

$$1. \quad y(n+2) + 5y(n+1) - 6y(n) = n + 2^n$$

$$\lambda^2 + 5\lambda - 6 = (\lambda+6)(\lambda-1) \Rightarrow \text{F.J.} = \{(-6)^n, 1^n\} \quad +3$$

$$\cdot \quad \alpha(\lambda) = \lambda \Rightarrow z(\lambda) = \lambda (\alpha\lambda + \beta)$$

$$\Rightarrow \lambda (\alpha\lambda) + (\beta\lambda + \gamma) = \lambda \Rightarrow \alpha = \frac{2}{15}, \beta = -\frac{3\alpha}{7} = -\frac{9}{98} \quad +3$$

$$\cdot \quad \alpha(\lambda) = 2^n \Rightarrow z(\lambda) = \alpha 2^\lambda \Rightarrow \alpha = \frac{1}{8} \quad +2$$

$$\Rightarrow y(n) = \alpha(-6)^n + \beta 7^n + \frac{1}{8} 2^n + \left(\frac{2}{15}n - \frac{9}{98}\right)n, \quad \alpha, \beta \in \mathbb{R}, n \in \mathbb{N} \quad +2$$

$$2. \quad y' = x^2 \sqrt{y+2} \Rightarrow I = \mathbb{R}, J = (-2, \infty), \quad y = -2 \text{ sing. f. f. f.} \quad +2$$

$$\frac{y'}{\sqrt{y+2}} = x^2$$

$$2\sqrt{y+2} = \frac{x^3}{3} + C, \quad y(0) = 0 \Rightarrow C = 2\sqrt{2} \quad +2$$

$$\sqrt{y+2} = \frac{x^3}{6} + \sqrt{2} \Rightarrow \frac{x^3}{6} + \sqrt{2} > 0$$

$$x > -\sqrt[3]{3}\sqrt{2} \quad +2$$

$$y = \left(\frac{x^3}{6} + \sqrt{2}\right)^2 - 2, \quad x \in (-\sqrt[3]{3}\sqrt{2}, \infty)$$

$$\text{Lepens: } y = \begin{cases} \left(\frac{x^3}{6} + \sqrt{2}\right)^2 - 2, & x \in (-\sqrt[3]{3}\sqrt{2}, \infty) \\ -2, & x \in (-\infty, -\sqrt[3]{3}\sqrt{2}) \end{cases} \quad +2$$

$$3. \quad y' = (y-1)^2 / \log|1+y^2|$$

$$J = (-\infty, 0), (0, 1), (1, \infty) \quad +2$$

$y > 0$ na intervalu J je y ustavená zle

$$\int \frac{1}{y} = \int \frac{1}{(y-1)^2 \log|1+y^2|} \quad \text{konvergenca:}$$

$-\infty$: $|\frac{1}{y}| < \frac{1}{|y-1|^2}$ je srovnávaná s $\frac{1}{y^2}$, čo konverguje $+1$

0 : srovnávaná s $\frac{1}{\log|1+y^2|}$, čo srovnávaná s $\frac{1}{y^2}$, čo diverguje $+2$

1 : srovnávaná s $\frac{1}{(y-1)^2}$, čo diverguje $+2$

∞ : jač ako $-\infty$ $+1$



$$4. \quad y'''' + y = 0$$

$$\lambda^4 + 1 = 0$$

$$(\lambda + 1)(\lambda^2 - \lambda + 1) = 0 \Rightarrow \lambda = -1, \frac{1}{2} + i\frac{\sqrt{3}}{2}, \frac{1}{2} - i\frac{\sqrt{3}}{2} \quad +3$$

$$\Rightarrow F.S. = \left\{ e^{-t}, e^{\frac{t}{2} \cos \frac{\sqrt{3}}{2} t}, e^{\frac{t}{2} \sin \frac{\sqrt{3}}{2} t} \right\} \quad +2$$

$$z(t) = a + b \cdot e^t \Rightarrow z''(t) = 0 \Rightarrow c = 1 \quad +3$$

$$\Rightarrow y(t) = a e^{-t} + b e^{\frac{t}{2} \cos \frac{\sqrt{3}}{2} t} + c e^{\frac{t}{2} \sin \frac{\sqrt{3}}{2} t} + t^2, \quad a, b, c \in \mathbb{R} \quad +2$$

$t \in \mathbb{R}$

$$5. \quad \begin{pmatrix} \lambda - 6 & 7 & -5 \\ -1 & \lambda & -1 \\ 2 & -3 & \lambda \end{pmatrix} \begin{matrix} \uparrow \lambda - 6 \\ \sim \\ \downarrow +2 \end{matrix}$$

$$\sim \begin{pmatrix} 0 & \lambda^2 - 6\lambda + 7 & -\lambda + 2 \\ -1 & \lambda & -1 \\ 0 & 2\lambda - 3 & \lambda - 2 \end{pmatrix} \begin{matrix} \uparrow \\ + \\ \end{matrix} \sim \begin{pmatrix} 0 & \cancel{\lambda^2 - 6\lambda + 7} & 0 \\ -1 & \lambda & -1 \\ 0 & 2\lambda - 3 & \lambda - 2 \end{pmatrix} \quad +4$$

$$\Rightarrow y'' - 5y' + 6y = 0$$

$$\lambda^2 - 5\lambda + 6 = (\lambda - 2)^2 \Rightarrow y = a e^{2t} + b t e^{2t}$$

$$\Rightarrow z' - 2z = 3y - 2y' = -e^{2t} / (a + 2b) - 5t e^{2t}$$

$$F.S. = \langle e^{2t} \rangle \quad z(t) = c e^{2t} + (-a - 2b) t e^{2t} - \frac{5}{2} t^2 e^{2t} \quad +6$$

$$\Rightarrow x = y' - z = 2a e^{2t} + b e^{2t} + 2b t e^{2t} - z(t)$$

$$= e^{2t} (2a - c) + t e^{2t} (a + 5b) + t^2 e^{2t} \frac{5}{2}$$

